CONTRACT: #47800-SOS0000037, Master Solution Purchase and Services Agreement

| VENDOR | QUOTE NO. | DATE | ITEM DESCRIPTION Security Ballot Stock (500). 8.5" x 11". 80# text. GA watermark. Rolland Votesecur SL GR White. Infrared | TOTAL | FUNDING LINE PROVIDED |
|---------------------------|-----------|--------------|----------------------------------------------------------------------------------------------------------------------------|------------------|-----------------------|
| DOMINION VOTING | Q00011800 | 6/12/2024 | I (IR). Wrapped | \$ 96,000.00 | 100-265-2653-1462 |
| DOMINION VOTING | Q00011749 | 5/30/2024 | I ImageCast X Prime Privacy Filter - 21.5" - Avalue | \$ 52,780.00 | 100-265-2653-1408 |
| | | | | \$ 148,780.00 | <u>.</u> |
| | | | Data Activation -Annual iPad Cellular (Qty: 50) and iPad 64gb + Cellular - | | |
| KNOWINK, LLC | 654 | 19 5/23/2024 | 4 Space Grey (Qty: 50) | \$ 28,950.00 | 100-265-2651-1408 |
| | 655 | 50 5/23/2024 | iPad Cellular - iPad 64gb + Cellular - Space Grey | \$ 259,500.00 | 100-265-2651-1408 |
| | | | | \$ 288,450.00 | _ |
| TOTAL REQUEST ON CONTRACT | | | | \$ 437,230.00 | · - |





Q00011749Budgetary Quote

| Product/Service | Description | Part Number | Qty | Unit Price | Extension |
|------------------------------------------------------|-------------|-------------|-----|------------|-------------|
| In-Person Voting: Polling Location Hardwa | re | | | | |
| ImageCast X Prime Privacy Filter - 21.5" - Avalue | | 192-000035 | 600 | \$85.80 | \$51,480.00 |
| | | | | Sub-Total | \$51,480.00 |
| Estimated Shipping | | | | | |
| Shipping (estimated) | | S90000 | 1 | \$1,300.00 | \$1,300.00 |
| | | | | Sub-Total | \$1,300.00 |
| | Purchas | e Sub-Total | | | \$52,780.00 |
| | Pur | chase Total | | | \$52,780.00 |

Terms and Conditions

This quote is valid for 90 days and subject to change for scope and configuration updates.

All Shipping costs to be invoiced separately to customer. All pricing is subject to standard terms and conditions.

Amounts due in years 2 and thereafter are subject to annual increases reflective of inflation.

Annual warranties are optional. Consumable items are available for return 30 days from delivery.

Signatures

| Customer Name (printed) | Title | Signature | Date (MM/DD/YYYY) |
|-------------------------|-------|-----------|-------------------|
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |



Q00011800

Budgetary Quote

| Product/Service | Description | Part Number | Qty | Unit Price | Extension |
|----------------------------------------------|-------------|-------------|-------|------------|-------------|
| Consumables/Parts | | | | | |
| Security Ballot Stock (500). 8.5" x 11". 80# | | 144-000112 | 1,450 | \$65.00 | \$94,250.00 |
| text. GA watermark. Rolland Votesecur SL GF | } | | | | |
| White. Infrared (IR). Wrapped. | | | | | |
| | | | | Sub-Total | \$94,250.00 |
| Estimated Shipping | | | | | |
| Shipping (estimated) | | S90000 | 1 | \$1,750.00 | \$1,750.00 |
| | | | | Sub-Total | \$1,750.00 |
| | Purchas | e Sub-Total | | | \$96,000.00 |
| | | | | | |
| | Pui | chase Total | | | \$96,000.00 |

Terms and Conditions

This quote is valid for 90 days and subject to change for scope and configuration updates.

All Shipping costs to be invoiced separately to customer. All pricing is subject to standard terms and conditions.

Amounts due in years 2 and thereafter are subject to annual increases reflective of inflation.

Annual warranties are optional. Consumable items are available for return 30 days from delivery.

Signatures

| Customer Name (printed) | Title | Signature | Date (MM/DD/YYYY) |
|-------------------------|-------|-----------|-------------------|
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |

KNOWINK, LLC.

460 N Lindbergh Blvd Saint Louis, MO 63141 +1 8557655723

http://knowink.com

Estimate



ADDRESS

Nadine Williams Fulton County GA Government Dept of Registration & Elections 130 Peachtree St., S.W., Suite 2186 Atlanta, GA 30303

| SHIP TO | | | | |
|-----------------------------|--|--|--|--|
| Nadine Williams | | | | |
| Fulton County GA Government | | | | |
| 1365 English Street N.W. | | | | |
| Atlanta, GA 30318 | | | | |

| ESTIMATE # | DATE | |
|------------|------------|--|
| 6549 | 05/23/2024 | |

| DATE | ITEM | HARDWARE/SOFTWARE | QTY | UNIT PRICE | TOTAL AMOUNT |
|------|-----------------------------|--------------------------------------|-----|---------------|--------------|
| | Data Activation - Annual | 4 years | 50 | 60.00 | 3,000.00 |
| | iPad Cellular | iPad 64gb + Cellular - Space Grey | 50 | 519.00 | 25,950.00 |

SUBTOTAL 28,950.00 TAX **TOTAL** USD 28,950.00

Accepted By **Accepted Date**

KNOWINK, LLC.

460 N Lindbergh Blvd Saint Louis, MO 63141 +1 8557655723

+1 0007 0007 20

http://knowink.com

ADDRESS

Nadine Williams
Fulton County GA Government
Dept of Registration & Elections
130 Peachtree St., S.W., Suite 2186
Atlanta, GA 30303

| ESTIMATE # | DATE | |
|------------|------------|--|
| 6550 | 05/23/2024 | |

| SHIP TO |
|-----------------------------|
| Nadine Williams |
| Fulton County GA Government |
| 1365 English Street N.W. |
| Atlanta, GA 30318 |
| |

| DATE | ITEM | HARDWARE/SOFTWARE | QTY | UNIT PRICE | TOTAL AMOUNT |
|------|---------------|--------------------------------------|-----|---------------|--------------|
| | iPad Cellular | iPad 64gb + Cellular - Space Grey | 500 | 519.00 | 259,500.00 |

Estimate

TOTAL

USD 259,500.00

Accepted By Accepted Date